
Test 2 

 

 



Answers  
1. non-functioning; 2. triangle;   3. bipolar; 

4. misunderstood;  5. impatient;  6. recycle; 

7. anti-war;   8. multipurpose;  9. pre-establish 

10. transpacific;  11. subspace;  12. transform; 

13. centimetre;  14. non-aggressive; 15. resubmit; 

16. impersonal;  17. multicultural;  18. misinterpreted; 

19. tristate;   20. predetermine. 

 

1. Non-functioning traffic lights at the junction had caused the crash. 

2. Which earrings did you buy in the end - the triangles or the circles? 

3. She has three children, including an older bipolar daughter. (mental health) 

4. She felt very alone and misunderstood. 

5. You'd be hopeless taking care of children - you're far too impatient! 

6. Shall I just throw this bottle away, or do you recycle? 

7. The anti-war movement had become a mass movement. 

8. Just one multipurpose cleaner should be enough for the whole house. 

9. They pre-established the rules for the game. 

10. I was about to embark on a long transpacific flight. 

11. The jewellery shop occupies a subspace in the hotel's lobby. 

12. Computers have transformed the way work is done.  

13. There are 100 centimetres in a metre. 

14. He is a non-aggressive, very gentle person, who would always try to avoid 
confrontation. 

15. I was advised to resubmit the forms. 

16. She has a very cold and impersonal manner. (not friendly) 

17. Britain is increasingly a multicultural society. 

18. She deliberately misinterpreted the question. 

19. Amateur skaters from all over the tristate area compete. 

20. The way in which surveys are carried out often predetermines the results 
that are obtained. 


